LomLiTett Si&g&LD geer 20116 @yam® Caimasmer et (HHgIE QeTaTLg).
1Qesreu(Hd g,asaJ.ei)asdT o _GiTere,

afupd : Gauenad — 110  Geuener — 120
(em:) (em)

Sjafigstiul L QungpL_ser 4,000 . 2,000

Qa;n@é;s;[iluﬁ;l_ G i : 900 ' 600

Cpygé Qsaasdr - 200 * 100

 Gouana — 120 a1 Geuenas - 110 200 200
WFHOULILL. ST&5GSET

LIahTL& ETenes@ SigLaw s&@sar 2 ' 100

geu@eunm Couamauller oisseflanad WHYID @eMUD Siwg BHLLLb
sansdlDs. Cauamad - 120 @ eumgdaswmersd . 3,000 Qrég
Gupligmuden erens Qamers.

8 '60557/CYAGA

NOVEMBER 2019 | 60557/CYAGA

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
. Answer any TEN questions.
What is a tender?
RUUIBSLIL|aTe eTeimLIg) eretia?
Define cost cenfre. !
3L Ssefleana enowiib - auaFwLIy.
What do you mean by EOQ?
EOQ upi el sifleug) wrs?

What is a stores ledger?

- 878EU GUCT® eremLg) wirg?

Calculate the earh‘ings of a worker from the following using piece

_ rate system

Production = 384 units
Rate:/ Hour = Rs. 1.80
Normal output per hour = 60 units.

SoE oiss ma opld Spssraruapans CsTar® @
Agrflareflufien aumrasmas saméd (s,

2 PLGS = 384 S @aEeT

568l (@ wenll Cor$HHE) = . 1.80 -
gngryent 2 HUSH Siete] (@ weanfl CErsHnE) = 60 DAL GEeT.
What is tifn’e wage system?

srapenD eI (e TG crabren?

What do quu mean by machine hour rate?

ey wenfl 6Ssid LHH Bedli oiPloug wing?

Give any two examples for service departments. -

Gaaeus giannsehéE gCsaib Qe &g,rrumrréw;’d% &(H5.

| Bom €9 - Cost  Hccoumbry

n



10.

11.

12.

13.

14.

What is process costing?
Qewedapenm éu_é;a;efﬂmeuuﬂlueb GTGUTLIG)] GT6uT60T P
Define job costing.
Gauama 2Lss6ilemauiluid - iy
What is profit centre?
@erU EoLDWILD qsbfugj wirg?
Give the formula for calculating re-order level.
Pt Sfare HansEd G GSHTsdoas 5n6s.

SECTION B — (b x 5 = 25 marks) °

Answer any FIVE questions.

Give the proforma of a cost sheet.
Sisaellanels Ll iguiadlen rdfll LigeugHenens Hms.
Calculate minimum stock level, maximum stock level and
re-ordering le'Yel from the following data:
Minimum consumption — 100 units per day;
Maximum consumption — 150 units per day;
Normal ¢consumption — 120 units per day;
Re-order period is 10-15 days;
Re-order quantity is 1,500 units;
Normal re-order pe1;iod is 12 days.
Epssngmd  feurmsmers Carar® @G@DHEULE &76EG IlaTay,
S HULF F76@E Si6T6y HDHILD LODIDENET S6T6EMaTs: STl (s
G@phs LLE Bisial (@@ prefipg) - 100 seesd
<faule pistey (@@ preliE) — 150 sgsad
FTSIrent BSTe (@ Braine) — 120 se@sar;
M enents sreod 10 —15 priger;
om Spenar jerey 1,500 Siew@GaEaT;

FTSTTERT DN ,eMENTE STeD 12 BILS6T Y GLD.
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sngryents anedl ¢h. 1 (e wanfl CrrsdlnG)

<185 Cpré el aisb — @ praeaé@ 9 warflger ey @ eI,
@eTLg wallsEns@ Cud Grigll] eisaphd (SDag!) @ Ml
48 wenflgar auany ¢ eigid, 48 werflEE Cuwe erg igls BememLbeW
LwaHADCsIT, SeuaiisCu euprisiiLiL Geuem(HLb.

23. Calculate the overhead allocable to production departments
A and B from the following:
There are two service departments X and Y.
X renders service to A and B in the ratio of 3:2 and Y renders
service to A and B in the ratio of 9:1. Overhead as per primary
overhead distribution is: ' '
A - Rs. 49,800
B - Rs. 29,600;
X - Rs. 15,600; -
Y - Rs. 10,800. _
A wppd B pfu 2 pusds gopserse @fiss Geudrgw
Cuopémeysmens sassl[Hs.
X wipmd Y s flu Qe G&meu"e_}sg,jsmg)a;df o grenerr. X sang
Ceamausaner A wpmbd B gioopsende 3:2 aldssdled Qslidipg.
Y saim Gswausamer A wppd B gopsepsg 9:1 oldgsde
Qslélpg. Osmés Cuplswe; udibsellQen Ly Hemeumuaa
Qer@&siuhemar. ~
A - . 49,800
B - 5. 29,600;
X - ¢ 15,600
Y - ¢, 10,800.
24. Modern printers took 2 jobs during June — 2011. The following
details are available
Particulars Job—110 Job-120
(Rs.) Rs.)
Materials supplied 4,000 2,000
Wages paid 900 600
Direct expenses 200 100
Material transfer from Job — 120 to Job — 110 200 200
Material returned to stores - 100

Find the cost of each job and profit or loss if any, assuming that
Job — 120 1s billed at Rs. 3,000 to a customer.

7 60557/CYAGA



22.

Yeneaumeuameupenms CQasTerT(h DN U SaTe|, AHHSLLE 6Tay,
G@DHSLILE Sjere] LMD syrefl s75E Damamets samsdlHs.

(=) @mpbsuLes pisia - 150 sie@sdr (aumrsdnE)
() <iflsulespsie = 450 sie@sd (anrsdnG)
(@) srsrran psioy ~ 300 swgsd (umrgéineg)
(F) DM DpEnEwT ieTa = 1200 @t

(2-) LI Y MeTE HTEOLD - 2 Wpse 4 aunrmiger.

Calculate the normal and overtime wages payable to a worker
from the following detai]s:

Day Hours worked
Monday 8
Tuesday 10
Wednesday 9
Thursday 11
Friday . 11
Saturday 5

Normal working hours — 8 hours per day.
Normal rate is Rs. 1 per hour.

Overtime rate — upto 9 hours in a day at single rate and over 9
hours in a day at doubled rate (or) upto 48 hours in a week at
single rate and over 48 hours at doubled rate, which ever is more
beneficial to the worker is to be paid.
SpsaramuapMalGhs @@ Csrforelses OQegss Ceusrgw
grgmyent O 245Hs Crrs fmelsmend samsd (s,

e - Geuane Qauiis Crr Serey

Sltigeir 8 wenfl CHrid
Qacualmu 10 wenfl Cwirbd
L| e -9 LDG'GUﬂ-G'r_F;_I]'Lb
G{ﬂu_lrrggeirr. 11 wenfl Gprid
Qeuerafl 11 Locuvﬁ Crb
gafl 5 wanfl Cryid

grgnyen Geuanay CHILD - ¢p(mH BraneTs@ 8 enflser
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15.

16.

Work out the earnings for the week of a worker from the
following particulars under

" (a) Straight piece rate

(b) Differential piece rate
‘(i) No. of working hours per week — 48 hours
(ﬁ) Rate per piece — Rs. 1.50
(iii) Normal time per piece — 20 minutes
(iv) Normal output per week — 120 pieces
(v)  Actual output per week — 150 pieces

(vi) Differential piece rate is 80% of piece rate when
output is below standard and 120% when above
standard.

SLp&&Tam)LD gaoudsmaers Garam (), Wereumn Qran® wapsaflar Lig
@@ dgrfeorallufer cumy eu@raismss sarsd Hs.
(<) Cprg oo 6izs smell e
(=) wroulL oG 6iss gme (;om,r_r)
@)  eurgrpdrl el Copb — 48 wenfl Crymisar
1) g aiss mel — . 1.50
(i) emgmyen oy (g{evaﬂ,r'p@') - 20 SO _rsiger
iv) srgmyent eumy 2 pLISH — 120 S Gs6T
(V) eawawwrer eury 2 HLFH — 150 S| G

(vi) wrguic seE ozs el Hiamu @asEs ECW
QDméseL Curgl - g ss @madlad 80 sseldsi;
2 puSH Miamy ojereney gD CUTE DS 58
saadlulfleyr 120 sgalflgLd <y @Lb.

Calculate’ machine hour rate to cover the overhead expenses
indicated below:

(a) Electric power - 75 paise per hour"

(b) Steam : - 10 paise per hour
(c) Water - 2 paise per hour
(d) Repairs - Rs. 530 per year
(e). Rent - Rs. 270 per year

( Running hburs - 2,000 hours per year

Original cost of the machine was Rs. 12,500;

Depreciation rate is 7.5 per year.

3 60557/CYAGA



17.

&CQp Gar@&suulerar GCopLsweasalaimbg sy wafll elfsnd

SaTES (H 5.

(=) WBlenallanes - 75 euer (g wentl Crr&HNE)
(<) Bomell r 10 oLis (g e @Méﬁlbé)
@) B > 2 oust (@@ warfl CHrsdHE)

() upsILmiLiy ik e5. 530 (@@‘G’J@L—gf@!b@)
5. 270 (@ uBL-SE D)

2,000 wemfl Gyid (uBLEHDE)

(20) aumLens =

(26r) @ WIKISS Falgl LOGWI&ET—
Qundlrsdlen oiLsselene p. 12,500 oy,@Ld;
Gauirand eNfsb aumLsHneE 7.5 #569850 <, @h.

Calculate total kilometres and total passenger kilometers from
the following:

(a) No.‘of buses — 5
(b) Days operatéd in a month — 30 days
(¢) Trips made by cash bus - 4

(d) Distance of route : — 20 kms (one side)

(e) Capacity of the bus - 50 passengers
() Normal passeriger travelling — 75% of the capacity.

Qar@&ssiul L eleurhisaflalmhg Quorss &.0 wHpmibd Lwenl &5

sam(I1G1g S5eyLb.

(@) Gumsgsalien ramaflsms - 5

(@) Quigod priser (orssdpe) -  S0prisar

(@) galarm Cumpgid Heapd preag pap Csam SEod
b5 |

(W) oufi$ Qpreaoy : 20 8.8 (G ouif)

(2) Cumpden QmEms Sjeme, = -SGoucauﬂa;eiT

(2ar) eupssomer  Uwewtlsar - dpafld 75 ssefilflgd  wl HCW

vweTL (HSSULIL LS.
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18.

19.

20.

21.

A company produces a product through two processes J and K.
Prepare process accounts from the following details related to
March 2010: ’

Particulars Process —J Process — K
(Rs.) (Rs.)

Material 45,000 15,000

Labour . 60,000 25,000

Chargeable expenses 5,000 10,000

The overheads of Rs. 17,000 are to be a'pportidned on the basis of
labour.

@@ Blpiow J wpgb K eremp Grar® Qewdpansaid @m@urmener
2puss Oeldpg. Geaeumd ofeughsallambg wmé 2010w
LrgsShsrear QFwLOPMmDSE GaMEEGHmaS SWThésea,b.

eQub Qewapep -J  Qewdapap - K
(@) (@)

epeliGumpLser 45,000 15,000

&B}GIS] 60,000 25,000

Gpiq& Qearayser 5,000 10,000

Cupbémaisar @, 17,000 @@ QaudepamnaEhsEh el aldsssd

 fl&Esayb.

How do you classify overheads based on functions?
GupUeweigmer Lailsefen siq (i udled eTeueummy u@ﬁnﬁr'r’l?
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
Explain the merits of cost accounting in deta:il.
L &selmes seamédlwiallen penenasamart LDH edlarsd Gr@g,ja;'.l

Calculate re-ordering level, maximum level, minimum level and
average stock level from the following details:

(8 Minimum usage = = - 150 units per week
(b) Maximum usage - 450 units per week
(¢) Normal usage : - 300 units pér week
(d) Re-ordering quantity — 1200 units
() Re-ordering period — 2 to 4 weeks
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